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2MR404-Heat Engines

ot all Questions.

e suttable data if necessary.

Figure to the right indicates full f\ arks.

{4) Start new Question on New Page.

Nection — [

(a) tion for the efficiency of Brayton cycle
(b Differentiate between Impulse and Reaction Turbine.

OR

all efficiency & Reheat factor.

ded Impulse turbine and explain

OR

of Velocity Compounded I

note on Francis Turbine

vele power plant has rﬂa\'imum pressure ratio of 8 w 2
U\ of compressor are 1 atm. and 300 K. A regenerative heat exchanger
1ve the ten 1}“wa;‘iture of air }*»er’"on:

ss of 0.6 15 used to increase 1

mbustion c,‘nam"rm’r Aur flowing fhma h the compressor s 500
£ "nai efficiency of the plant and saving in fuel consumption in
egencration. Take Max. Temp in xhe cy de UG N A0
nd compressor efficiency = 80%. y = 1.4 and Cp = 1.005 KJ/kg K

for both air dud gas.

Section — I
(a)  Describe the modified Rankin cycle.
(b)  Explain the Binary vapour cycle.
OR
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Draw the line diagram of Combined ¢ power plant and give the applications ©
¢ 1 S ]

LLreine power plant

Explain the e:ff:"“cir‘ucy of Rankin cycle
derive the Efficiency of Camot cycle

OR
rative eyele Q*ez power me’ Find the efficiency of the
cle with Use of T-s H -5 and P-v diagram
’n 1% anm cyele steam power plant? Find t} e efficiency of the Reheat Cycle
cand H-s diagram.
END OF PAPE

Total Marks: 70

{a} Denve an equation for the condition of maximum energy transfer in case of
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